3apava B. CyuwecrByeT 1M TpeyroJsibHUK? a=int (input ())

AA3bIK b=int (input () )
[laHbl TpU HaTypanbHbIX Yncna a, b, c. OnpeagennTte, CywecTByeT Nu nporpamMMmMpoBaHuns - | |
TPeyrosibHMK C TaKMMKU CTOPOHaMUN. Ecnn TpeyronbHUK CYLLLECTBYET, 3TO MaTpeLLKa c=1int (1nput())
BbiBeanTe cTtpoky YES, nHade BbiBeaute cTtpoky NO. if e > a4+ bora>Db4+corb>a+ c-
y y Prl TN print ("NO")
TpeyrosibHMK — 3TO TPU TOYKU, HEe nexauwume Ha oaHOUN NMpPpAMOoWn.
else:
BXxoaHble AaHHbIE CY print ("YES")
BBOAATCSA TPW HATypasibHbIX YMcna. PYTHON
nt (] c0) if (¢ >= a + b)
a=1n i1npu
BbiXxoAHble AaHHblIE . {
b=int (input ())
BbiBeauTe OTBET Ha 3a4au4y. | | COUE<<TNO ; PYTHON
c=1nt (1nput ()) } PYTHON
a=int (input ()) ,
BXOAHbIE AaHHbIE b=int (input () ) Nt ("NO") else
rin _ 1 : . .
3 c=int (input ()) g { eminttinput ) e=int {input i)
4 if ¢ > a + b: elée. 1f (a >= b + ¢) c=int (input()) c=int (input())
5 orint ("NO) 1f a >= Db + c: { if ¢ > a + b: kolvo=0
: print ("NO") print ("NO") if ¢ > a + b:
BbIXOAHbIE AaHHbIE else: e cout<<"NO"; |
YES print ("YES") ' } elif a >= b + c: kolvo=kolvo+l
if a > b + c: 1t b >=a + c: clse print ("NO") 1f a > b + c:
print ("NO") print ("NO") { elif b >= a + c: kolvo=kolvo+1
Tbl HE MOXeLlb else: eloe: e a print ("NO") ifb>=a+ c:
print ("YES") print ("YEST) { else: kolvo=kolvo+l
yTBepXaaTb yes £ b= a+ o print ("vEs")

cout<<"NO";
print ("NO")

ﬂOKa He } 1f kolvo>0:

else: ' " "
else print ("NO")

r1F)()E3€3F)b4llJt> EB(:EB print ("YEST) else:
TPW YyCNoBUS print THESD)

0 cout<<"YES")
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